[2]

Qug -1
Section -1

(3T HI VIeg-Hwr- 30, 3H-02)
T -1
1., Al W Y S e €7 gaen e i S (2]
What do you mean by Chemical Equilibrium? Describe it in brief.
2./@ﬁaqdmﬁmm| (2]
Differentiate between mineral and ore.

6. / & & fram =) =arEn wifew [2]
Explain Ohm’s Law.

7. @R ¥ & W) Iy fafa (2]
Write four applications of Solar Cell.
8. wfaiy sk fafire ufiy & siw 3w s@ET| [2]

Differentiate between resistance and specific resistance.

11. T4 <h1 AHiferd ford dAET| [2]
Draw the labelled diagram of a flower.

IZW%Wﬂ:ﬁﬂﬂﬁﬁ?aﬁﬁml 2]

Write about the various parts of chromosome.

13. & <o =t = & THifwd O T gEEa ¥ q9Emsy) 2]
Explain the structure of chloroplast by well-labelled diagram.
YT -2
1. HF 9 HIST / Find the value of : 2]
101)* - (99)*
(101)* +(99)°
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2. & ufE FES W ST 980 ¥ WS wem w1 o Wem ¥ w2y W
YITHA 2 T YIR 480 WG B ¥ | S GEeh @ W 9| A
The difference between two rational numbers is 980. When the larger
number is divided by the smaller number, quotient is 2 and remainder is
480. Find the two numbers.

J5 B

S S S D b [

V5x+3++/5x 7
Find the value of x if Sx+3-+5x :E
Vsx+3+45x 7

4. 99 2020 H 53 I9AR W< & Ht Wifdshdl TG HITAT |
Find the probability of getting 53 Sundays in the year 2020.

5. 6x%y’z, 24x*%%22) 3033z 1 WEOW WHMEE qd1 SHYAH HHMYEdS A
ShifsIu |
Find the HCF and LCM of 6x?%)?z, 24x**#2, 30x*y’z3,

6. TmAfafEa goft § <2 & WM W F-H Fer i ?

5, 16, 51, 158, ?
In the following series, which number will replace the position marked
as ‘“” 2 \s Q4
)
5,16, 51, 158, ? =S

Y- 3 38

1. o &s o gem denfiet % 9Em & 9R e % W fafau
Write the names of four fields in which Information Technology is used in
rural sectors.

2. Ioth 1T ?

What is Fertilizer?

3. aE-3aE & fegl a1 ol @ fafae )
Write any two advantages of Bio-fertilizer.

4. erga S % & Hidl w1 AW fAfe

Write the names of two renewable sources of energy.

2]

2]

2]

(2]

(2]

2]
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5. wrfi wentadl @ e € 2

What are endemic species?

6. it st F e e 2
What is Acid Rain?

7. SI-ITER B ?
What is Bio-remediation?
8. aifoafed g F1 8 2
What are non-degradable pollutants?
Q@ oug -2
Section-2
( SO T ITeE-9MT- 60, 3H-04)
HT-1
3. mmﬁwm%?ﬁmﬁwﬁmﬁaﬁﬂﬁmm%?
What are alkaline metals? Why do they not occur free in natare?
4, A ® &7 THH qEEfe @ wd 3TEr i fafE |
What is Teflon? Write its chemical structure and uses.
9. Td ¥ el &l I hl HEAN HifoT |
Explain the origin of energy in sun.
14, 9 o SHTRf-vaqT F HHARY |
Explain the Aerobic Respiration in plants.

15. T & R & GHART |
Explain functions of Blood.

HT-2

7. Trfafaa aiema se7 3g mitae @ Sifsw swl f aiewa §
x 1 2 3 4 5 6 7 8 9
f 8 10 11 16 20 25 15 9 6

Find the median for the following frequency distribution where f is the

frequency :

x 1 2 3 4 5 6 7 8 9
S o8 10 11 16 20 25 15 9 6

(2]

Aok
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[5]

@Wﬁﬂ%ﬁﬁmﬁ?? 200 A 7, fhg g fe T 150 w9 W
> % A A T 200 FH B oM Y faq T 150 @ W o ¥ Al 9%
s o Tt fdl H ot T R ® @ e S wh-g R s T
2 600 i1 ?

A man earns ¥ 200 on the first day of a month but spends ¥ 150 on the
second day. He earns ¥ 200 on the third day but spends ¥ 150 on the
fourth day. If he continues to do this in the coming days, then on which
day of the month he will have X 6007

T& THMSR T 1,540 1 W W 1 Hedl = 81 T el W IH 12%
oY g O W IH 12% i B B €1 I oA & fashu W gHACK
I Fl ToraT A9 Y B el € 2

A shopkeeper sells two radios at the rate of ¥ 1,540. On one radio, he
earns 12% profit while on the other, he gets 12% loss. What is the total
profit or loss of the shopkeeper on the sale of two radios?

HIT-3

9,

10.

11.

12.

13.

Sferer shieawes & o Ta geiony fafaa

Write the benefits and hazards of bio-insecticides.

9 9 Sieanes o9H &t fafy fafeau |

Write the method of preparation of pesticides from Neem.

yfy # 3uferd g=a yeuen! & an ¥ faf@ul
Write about the main pollutants in soil.

YR H Ty So-fafagm & e § e # fafeu
Write in brief about plant bio-diversity of India.

qdE Yguu & ' o 9] W fafEy)

Write about the sources of thermal pollution.

Que -3
Section-3
(WX &Y yrsE-drar- 100, 3% - 08)

-1

S.

uiqeRd | a1 eifuym § 7 T, T, Y TS WHT 1 SRSAT FifeT |
What do you mean by metallurgy? Explain calcination, roasting, smelting

and refining.

[4]

[4]
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10. S ¥ R % fem aaee | wuee gdo gR A i e w1 fae
fororand THEET | T i STenT-3TeN WHN F AU HT @ SH = Y
F THd 2 8]
State the laws of reflection of light. Give various characteristics of the
image formed by a plane mirror. How can we distinguish between three

different types of mirrors just by looking at them?

16. Ol o AT YSH & YR ddeU | (8]

Write the types of asexual reproduction in plants.

T -2
10. fet Fafers & T FHER H A aad T 12 OG © | IHHI T R
v et foer deon 3Ee #R a9 off 79 &1 afe Il g 45 99 8,
facita a9 2019-20 o IGF g <F SAFHT I TIA] HITC | [8]
Annual salary of an employee of any office is ¥ 12 lacs. He does not
get any House Rent Allowance and he has no savings. His age is 45
years. Calculate the income tax to be paid by him in the financial
year 2019-20.

1. gs & Uoh WYE  AA9E< Wg-uQre % e uw gdamn e e, feen
afterm Hr= feu g we-=E § fem o
A survey was carried out to find the favourite beverage preferred by a
certain group of young people. The result is shown in the given diagram
(Pie-chart) :

() #fUFdE gar =199 999214 19= &1d &7

(by Afe 600 qa1 JH TH=< &Td ¢ a1 fhad qansii o gdeyor faey oy 2 [4+4=8)
(@) Which type of beverage is liked by the maximum young people?

(h) It 600 young people like juice, then how many young people

were surveyed?

CA-04
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T -3

14.mﬁWWé;wﬁwmﬁfwﬁmﬁﬁqﬁam (8]
Write short note on future of rural marketing in India.

15, Sa-fafaud & R Wa© F1 aviy Fif (8]

Describe the in-situ conservation of bio-diversity.

16.WWWWﬁ'atﬁwmﬁwaﬁmeﬁml

Describe the role of vermicompost for solid waste management

T us -4
Section-4
(3T i yTeg-HmT-125, 3fF-10)
(39 TUT H UMT-2 ¥ FA 2 U9 37aT/OR & &9 ¥ few mw )
VAT KT TTH | IR 1 I 30 2rm )
YT-2
12. Fr=fafed 4 9 f6=1 gf W 37 =afewa @ sfde | fewfml fafae @ [5x2=10)
(@) =N® THfER
(b) T
(c) e TS
Write notes on any #wo of the following regarding their individuality
and work :
(a)  Varah Mihir
(b)  Bhaskaracharya
(¢)  Shriniwas Ramanujan

37ear/OR

(@) 200 faenfefli & ww 99 & fou gaT=R @ 40 WS fohar A 9
Y ug yrn vy T oy famnfdEi & oAt @1, S fe 43 = 35 9, T
¥ 34 9 53 T foram T A1 39 WE & AU WE wWRR wiem i
O T | (5]
For a group of 200 students, the arithmetic mean was found to
be 40. Later on it was discovered that the scores 43 and 35 were
misread as 34 and 53. Calculate the corrected arithmetic mean for
this group.

CA-04
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(b) q’r‘z?mzoo%mwm@4aﬁffffqauq?1,440ﬁm%,a‘r

=S &) e € A hied |
If ¥ 1,200 becomes T 1,440 in 4 years with simple interest, then
calculate the rate of interest per year.

Wus -5
Section-5

(3T HT II=-HAT-175, IFH-15)

(5]

(38 WUE § WM~ 1 H 3 ¥ WNEN $of 4 Y99 Agar/OR & w0 § R ¥

anegel &l WT-1 93 ¥ | 1-1 &7 39 1 Afard 1)

-1
17. YehTO-GYeroul shi GRS §U SHHT UiEA F YA Tal i GARC |

Give the definition of Photosynthesis and explain its main steps.

37Ua1/0OR
gl § R Ud O B & A F Ave S
Describe the male and female hormones in human being.
HT-3
17. Tfuerta ot 8 WG F S € 2 IR ° FHEd w9 & T fafaw)
Ffvyerg ol & oY TE 1A &l HHHARY |
How is the nuclear energy found? Give the names of the nuclear reactors

working in India. Explain the advantages and disadvantages of nuclear
energy.

379aT/0R
e WEuE FI1 & 7 T WG F "4, WHI, =] R ACER0 H 1 FAEE
9vE 9edl € 7

What is water pollutant? What are the various harmful effects of water
pollution on human, plants, amimal and environment?

[15]

[15]
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